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Calendar Formulas, Christian
Zeller of Markgroningen : From the German by Sebastian Koppehel (1886) Day of
the Week Calculation
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31| 28 31 30 31 30 31 31 30 31 30 31
mod7 31 0 +3 +2 +3 +2 +3 +3 +2 +3 +2 +3
+0 2 2
















C D w X W(x)
C x| 1901 x 2100, x
D 0,1,2,3,4,5,6
D

X 4m C x C X

W(x 4m)= W(x) 2m mod 7 m
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W(xz 4)= W(xX)*
W(xz 8)= W(x)t
W(xz 12)= W(x)t
W(xz 28)= W(x)
W(xz 100)= W(x)¥ mod 7

I+

I+

I+

I+

I+

25

m
W( x+ 4 )= W( X )F2

W(xzx 8)= W(x)¥4= W(x)t 3

W(x+ 12)= W(x)¥6= W(x)x 1

W(x+ 28)= W(x)¥14= W(Xx)

W(x+ 100 )= W(x)F50= W(x) 1

W(x 4m)= W(x) a
W(x 4 )= W(x) B

W(x 4(m )= W(x) a B

W(x 4m)= W(x) 2m= W(x) a
W(x 4n)= W(x) 2n= W(x) P
W(x 4(m )= W(x) 2(m )

W( x

W( x

= W(x) 2m 2n
= W(x) a B

16)= W(x 4 12)= W(x) 2 1= W(x) 1

20)= W(x 8 12)= W(x) 3 1= W(x) 4= W(x)
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W(x 24)= W(x 12 12)= W(x) 1 1= W(x) 2

W(x 12k)= W(x) k k
W(x 100 100)= W(x) 1 1= W(x) 2

W(x 100k)= W(x) k K
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W(x 12)= W(x) 6= W(x) 1

(x 8)= W(x) 4= W(x) 3

W(x 20)= W(x) 10= W(x) 3

W(x 12)= W(x) 1
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W(x 12)= W(x) 1
W(x 16)= W(x) 8= W(x) 1

W(x 12)= W(x) 1




W(x 4)= W(x) 2

W(x 28)= W(x)
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X W(x)
x| x I ,1901 x 2100
0,1,2,3,4,5,6
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W

—

Regular.1

Regular.l  x

X

X = mod 4 W(x 1)= W(x) 1 mod 7
X = mod 4 W(x 1)= W(x) 2 mod 7
W(x 1)= W(x) 365= W(x) 1 mod 7
W(x 1)= W(x) 366= W(x) 2 mod 7
Proposition.1
Proposition.1
X 4 X X
W(x 4)= W(x) 2 mod 7
X 4 X X
W(x 4)= W(x) 2 mod 7
Proof X 4 X X,x 1,
X 2,x 3
Regular.1
Regular.1
W(x 4)=W(lx 1 1 1 1)
=W(lx) 1 1 1 2
= W(x) 5
= W(x) 2 mod 7 ]
X x 4
X 4 4 X 4 X
W(x 4 4)= W(x 4) 2
W(x)= W(x 4) 2
X 4 X X
W(x 4)= W(x) 2 mod 7 ]

Theorem.1
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Theorem.1 X 4m X X
W(x 4m)= W(x) 2m mod7 (m 7)
Proof m O X X

W(x)= W(x) mod 7

m 1 Proposition.1
m 1 Proposition.1
m Z
X 4k X X
W(x 4k)= W(x) 2k mod 7
x 4k 1) X X
W(x 4k 1))= W(x) 2k 1) mod 7
X 4k X X
W(x 4k)= W(x) 2k mod 7
x 4k 1) X X
W(x 4k 1))= W(x) 2k 1) mod 7
X X 4
x 4 4k x 4 X
W(x 4 4k)= W(x 4) 2k
W(x 4k 1))= W(x 4) 2k
X Proposition.1
= W(x) 2 2k
= W(x) 2k 1) mod 7 ]
X x 4
x 4 4k X 4 X
W(x 4 4k)= W(x 4) 2k
W(x 4k 1))= W(x 4) 2k
X Proposition.1
= W(x) 2 2k= W(x) 2k 1) mod 7 ]
Theorem.1 m Remark.1
Remark.1
W(x 4)= W(x) 2 mod 7 Theorem.1 m
W(x 12)= W(x) 1 mod?7 Theorem.1 m
W(x 28)= W(x) mod 7 Theorem.1 m
W(x 100)= W(x) 1 mod?7 Theorem.1 m 25
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W(x 12)= W(x) 6= W(x) 1
W(x 28)= W(x)
W(x 100)= W(x)

mod 7
14= W(x) mod?7
50= W(x) 1 mod7

Theorem.1
W(x 4m)= W(x) 2m mod 7
2m 0 m
2m= 0 mod 7
m= 0 mod?7
m 7 Remark.1
W(x 28)= W(x) mod?7
W
Theorem.1 m Remark.2
Remark.2
W(x 4)= W(x) 2 mod 7 Theorem.1 m
W(x 12)= W(x) 1 mod7 Theorem.1 m
W(x 100)= W(x) 1 mod?7 Theorem.1 m 25
W(x 12)= W(x) 6= W(x) 1 mod7
W(x 100)= W(x) 50= W(x) 1 mod7
Remark.2 Theorem.1 m 7%
m m
Theorem.1 X 4m X

X

W(x 4m)= W(x) 2m mod7 (m 7))

- 20 -




I+

W( x

W( x

W( x

100 )= W(x) 1

200 )= W(x) 2

300 )= W(x) 3
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W( x

100 )= W( X )

W( x

W( x

D

W( X

100 )= W( x )

200 )= W( x)

100 )= W( x )
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W(x 100)= W(x) 1

W(x 200)= W(x) 2
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W(x 200)= W(x) 2

W(x 300)= W(x) 3
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W(x 400)= W(x) 4= W(x) 3
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W(x 80)= W(x) 40= W(x) 5= W(x) 2

W(x 300)= W(x) 3

W(x 100 )= W(x) 1
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W(x 80)= W(x) 40= W(x) 5= W(x) 2
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1201

1501
W(x 80)= W(x) 40= W(x) 2 (mod7)
1581
1582

1201

1401
W(x 88)= W(X) 44= W(x) 2 (mod?7)
1489
1492
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1582 2 24

1582 3 1

1582 10 15

1582

10 4

1582 10 15

1582 12

1582

1582 12 21

1582

12 21

1583 1 1

1583

1583

1584

1584

1587

1699

12

1701 1

1752

1752

9 2 ()

1752 9 14 ()

1753
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1776

1812

1872

1872

12 2

1898

1873

31

1894

1912

1916

1918

1918 1 31

1918 2 14

1919

1922

1924

1927

1940

1967
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